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¥ float x =3.14;
z. float x =3.14f;
# . float x =3.14F;
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for (int i=0; i<n; i++)
{
int j=i,
for (int k=i+1; k<n; k++)

if (a[k] < a[j]) j=k;
int temp = a[i); a[i]=a[j]; a[j]=temp;

}
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intx=15;

if (x > 5) x=x+5;
if (x > 10) x=x+10;
if (x >= 30) x=x+30;
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public class Test {
public static void main(String[] args) {
boolean bl = true;
if (1b2)
System.out.print("X ");
System.out.print("Y ");

}
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public class Test {
public static void main(Stringf] args) {
boolean bl = true;
boolean b2 = false;
if (b2 = true) && bl)
System.out.print("X ");
System.out.print("Y ");
}
}
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public class Test {
public static void main(String[] args) {
int X;
x=19%4;

}
} [EE 5 & A 8
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public class Test {
public static void main(String[] args) {
int x=0, y=12;
do { } while (x++<y);
system.out.printin(x);

}
}
48. F 7] Java £2 XHUATHE » #0180 & R BAT? (A)6 (B)T (C)10 (D)#hE48 3%
‘public class Test { _ ‘

public static void main(String[] args){

for (int i = 0; i <= 10; i++){
if (i > 6) break;

}

}
}
49. F 7| Java £ X #ATR * x R EHT? (A)63 (B)64 (C)65 (D)66
public class Test {
public static void main(Stringf] args) {
int X = 66, y = 66;
y=++x;
¥y
X=-Y;
X=Yy--;
}
}
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System.out.println(i);
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